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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.
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SECTION-A
1. Answer any five questions: 2x5=10

@I Ao aoss Tex wie ¢
a) Define Human Geography.

AR ST AL 71 |
b) Differentiate between race and tribe.

wifs @ Toieifon Tey #M1efey =12
c¢) What do you mean by ethnicity?

GifoTg 0o J @R 2
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d) Give the two major characteristics of population

composition for the developed countries.
Te (wRIre GePRRATE 1R g0 [@HE @74
¢) Define "Phantom Pile".
o1 g @Ie F (@RI
f) What is a Normal Fertility Rate?
FeIRE deea B FI0e F (@R 2

g) What is meant by absolute and relative space?
S Bl € AR Zl IS B (R 2
h) What is linear settlement?
@R Pife w0 @Rl
SECTION-B

2. Answer any five from the following questions:

4x5=20
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a) Discuss the characteristics of Pastoral

Nomadism.
AT AR Y (12|

b) Elaborate the evolution of Human society from
Primitive stage to Industrial stage.
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d)

g)

h)

Briefly discuss the causes of population

explosion in India.
ICe Gkl REwIeR e S S |
Briefly explain the stages of Demographic

Transition theory with reference to the Indian

context.
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Discuss the reason behind the uneven population

distribution and density of India.
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|

What do you mean by Race? Discuss the physical

characteristics of Caucasoid Race.

wifs J@ce 1 @RI? Caucasoid Race @3 *Hifas
o AREeR @14

Discuss the impacts of population growth on
environment with suitable examples from India.
B B |

Discuss the major points of the Population
Policy of India 2000.
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SECTION-C

3. Answer any one from the following questions:
10x1=10
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a) Mention the different linguistic family in India.
Briefly discuss the characteristics of major
linguistic family in India.
SRred SRIee fafen @@ S 3| RewA @
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b) Differentiate between age-sex structure of
developing and developed societies. Mention the
different factors responsible for the growth of

population.
o @ TR (eH "age-sex structure" @3 #f1<
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c) Give a detailed account of different types and

patterns of Rural Settlements.
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